RETTHRIARAFRAF]

DALIAN REALLY FLUID TECHNOLOGY CO.,LTD.

-y
[ —3
<D
[ —
<
[—]
— —
o » |
—
—
| — |
-
[ —
—
i
— -
20
[ - J
[ — ]
——
—
— =4
[(—
——
e |
i
<D
==
— —
[—
=>
—<

13.1

RFT

KETHREHABRAF
0411-88705800
0411-88703100

18041158168
12-1
116600 &
www.dlreally.com 18040115295
18041158151 18041158169
xtgy@chinaxtgy.com shanghai@direally.cn

ABRMBES, BERFHITEH 2023 4




ATB)EST
Company Infroduction

KNiETHIRARABIRATIE20045FE , & "F
gl eIFr. B B , —BEEFTRES
WHEWF-RAE. FIERRS  BRISERITERE
0ZTEREF.

HIpRRISEEE. 26, BRHIEAISEE
BEP, ERTLL "FEET . SEgER" .
RpEidiEsE" . BEiEEEL" | "BELSE(
BB RS AERNARRIIF=R , BE—uiR
EFIRRAR" .

HA—ERS TR, BEFL. SHHR
. BEEEET. $HRESRERDTECNE S
gL , FREAETAANEL. A, #eeR. ©h
FIEFERERT , FAVEEMAT "FEHRL
BTpa". "tEIENMIHS" UKk "BER
aErrha" .

ATEE
Company Philosophy

mES-ERMNAKZBRESNOES , HMNEH
CRM/PDM/ERP/MESFIZEENRMY , Tl EITE
S8 | Bt ifiEs ka5
RREET.

AFSEREET "ISO9001 FREEEARFRIAILE"

"ISOT400 FMEEIRAFRIAIE" . "1SO045001
RIMERZSEBARINE . "FHURSEERR
NIE” .

HII—BEIEEMBANALKSRAER , £E5 "X
EETAE | "KETWKRZE" SETFHEF
i, SEMABES. BAVCEBIAESN " EHE~
WEES" | "SERARL"  TTEEBEETN
EABL" .

RitES
Design Concept

ERD T T ERIT RN AT 25
T RAHFRRCANRI R HITIR
RIS | KIBRS 7 RRIRRIhERF4E
S 7R, EFASRERAERAIA
BHTIRAMEIERRFEEY | 1LTHr~
FEIERL A mEHISAL.

e RIHE
Company Qualification

T R R M
=

RAER: KETHRAHEANRA T AEBHS: GR202021200046
ZAERIE: 2020410 A9 A WM =

R EUR TR T2,

Kot AA A AR B R EHUR TR T
e Baai.

ARWE 20245 12 1 31 B

cear

RE G RAR RN

RETFIRBHEARFRAT s

SRR 912102137560828190
R R - TR - REBIFHORFRE A 121 5 128
DA LT - REBFRATRE B 121
EERERFAIE
150 9001:2015

EBEIT:

A WERHRG (R, B KRIHFR.
AP R RS

HESHAAE 200243 16 HE 2005 831 15

REPRRREAERTRAT . R, SWEWES, ERSTIAAORAR.
EERRERRVRONLT, SERE BRI SR,

A SRR SRRREE ARG Coe.cocgov.co) L&,

® W % A B

MR AS KA

FEIBAMILHhS
L RIEH
B9, BIHEFE 4629
SRBEEH. KEAARMBER
B RS 2 BEAKRSE
B 92 B . 2019 5 04 F 24
H %W R 2023504 A

IR A PR SR T 1S

#ixwl
K HE T8 R o A B R AR A A
5 A N e

RRRE (£F)

AL ALH T IR AR 0 9 K A28 B




®

RFT RFT

1. —YQXJ34M/36M/44M/46M
/ 2. / ——YQXJ44M/46M/4AMF/46MF
3. / ——YQXJ44M/46M/54M/56M/64M/66M/44MF/54MF/S54WF/S55WF

—YQXJ53MK/54MK/55MK/56 MK/45MK/46 MK/48MK/58MK/36 MF/38MF

4. / ——YQXJ44AMF/A6MF/54MF/56 MF/34MF/35MF/45MK/48MK/58MK
5. ——YQXJ54M/64M/54VF/56VF/54MK/44MF/54MF
6. / / ——YQXJ46V/34V/36V/54V/56V/64V/66V/54VF/56VF
7. / / ——YQXJ54Q/56Q
2
1 2 3. 4
25y m " 50 m / 25y m
vox 6 4 M - 20 L[] [A YoxJ 4 4 M - 15 [][A
L [
1-4
5 6 36 36000rpm 3 4 20 20000rpm
24 24000rpm 15 15000rpm
20 20000rpm 12 12000rpm
15 15000rpm
12 12000rpm
4 4 M
6 M MK 6 v
\%
Q

-01- -02-



ﬁ‘ ] § fe‘ 1 ’
A Fls| & D M E X B Y z C Nm
Mpa rpm YQXJ64M/66M/54M/56M/54Q/56Q M16x1.5 |12 | 24 | 18g5 5 18H5 7 18 35
20000 | 15000 | 12000 YQXJ44M/46M/46VI45M  56M -12B 15B | M16x1.5 |11 | 24 | 1895 5 18H5 7 18 35
YQXJ64M/66M A M16x1.5 |12 | 24 | 1895 | 1495 5 13 | 18H5 | 14H5 | 7 18 | 32 35
YQXJI54M/56M
0.5~10 [0.2~1 X o} o o YOXJ54M/56M A M16x1.5 |20 | 24 | 1895 5 18H5 7 27 35
YOXJI64M/66M
YQXJI54M/56M-B20 58-18UNF |12 | 24 [16.65g5 5 16.65H5 7 18 35
X 0 X YQXJI34M/3EM YQXJ34M/36M M10x1 11 | 24 | 1195 3 11H5 5 16 10
0.5~7 (0.2~1 X o o o YQXJ44M YQXJ34M/36M A M10x1 11 | 24 | 1195 3 11H5 5 16 10
YQXJ46M
0.5~7 [0.2~1 0.2~1 X (@] (@] YOXJ46V A Pyl
o X X YOQXJ54Q % &
X 0.2~1| 0.2~1 9_ T F—
X (0] X YQXJ56Q ~ 7 6/ > o < —
YQXJ54VF V. ] -
0.5~14 |0.2~1| 0.2~1 o) X X —%i Olsoor] 4]
YQXJS6VF 8
YQXJI54MF A ¢ - A iy A S %
0.5~14 |0.2~1 X 30000 X X LE L F M LI
YQXJI56MF K \
YQXJ44MF ® 1'% =
0.5~14 (0.2~1 X 30000 X X L <l W < ol <|a —
YQXJ46MF % W i
| S—
YOXJISAWF ©rrEin s
0.5~14 |0.2~1 X 40000 X X %_
YQXJ55WF
0514|021 X 24000 } YQXI5AMK YQXJ53MK-56MK/45MK/46 MK/48MK/58MK/57MK/67MK
’ ) O
36000 YQXJ56MK
YQXJ54MK/56MK/67TMK-24 15 YQXJ54 45 /56 48 [57MK-36 24
YQXJ53MK/55MK B
0.5-1410.2~1 X X © X YOXJISTMK/BTMK Y LI L Bk A8 g [Bno]
hrk o1 2 01
0.5~15 YQXJ46MK/48MK/58MK C e 751 105mo, 58
0.2~1 X 24000 X X i
0.5~-8 YQXJ45MK S
YQXJ34V/36V/54V/56V ' / T Y L ol i
05-7 [0.2-1| 0.2-1 3500 | X X Y OXI6AVIEEY 1 vﬂw Ol el il
YQXJ34MF/35MF HEIpE ~& e g %581 "= S| llel 2
0.5-14|0.2-1| X 40000 | X X YQXJ36MF/38MF b = Nk T i i
x. % WAL gl /1|
® ® ®
(oo[5] [N& 9.2570% ﬂmn <]§
2 - 90.03| A A <]{ s
YOXJ46MK - 24 Btk %% YQXJD8MK - 24 Btk %%
YOXJ 5 4 M -2 [ [A] YOXJ 4 F -2 O [MA
T T T T T T T " Ktk e
56.2+0.1 YY1
BN 538-02 2 2
1-4 2% 19max [Slsocs] 4] 21 12mox
1~4
/] m y_ ¥ ]
[ - | o |
40 40000rpm M@ﬁ P 5 : ﬂ/% iy N
20 20000rpm 30 30000rpm 2 g ger= ) o 5l g sTArSR——==ti=alll | 4z
20 20000rpm g5 sl=Ee== IBER g SigE= EEE
A I . : W . 6/ RS s 3 I
~ S s N\ | s gyl ||
—M ‘61 - M 0013 _4:[ s 5
o 29.740.1 95 -
v wmmw%ﬁ; W I wsse | —wls] K3
- B o0.03] A | <]{ 1
w ( ) 2 2 [[onle] TYY] 't

-03- ~04-



A‘;i:ii' ]' ’ “;E:ii‘ ]' §
YQXJ64M/66M-12 YQXJ64M/66M
[ ] [ ]
[ ] [ ]
[ ] [ ]
L NSK P5 ° NSK P4 P5
[ ] [ ]
® °
[ ]
) [ )
80 _ 140
MQL 5 '° MQL F120 S~
O 50 Py P
ISO 4406 17/15/12. 60U m 40 N ISO 4406 17/15/12. 60U m - ~
70 bar; 10 bar 30 ™~ 100 bar; 10 bar 60 -
12000 r/min 20 20000/15000 r/min 40
. 10 . . 20
82 L/min 0 82 L/min 24.3 L/min 0
70° C 0 5000 10000 12000 15000 70° C 0 5000 10000 15000 20000
. _— —_ r/min
— r/min
YQXJ64M-12 YQXJ66M-12
A A
' — ' —
s TT ¢
gl<|el3[F gl<|els[F YQXJ64M-20 15 YQXJ66M-20 15
= I —————____ —
13 3 13 3 A A
L L
 S—
f T T T T
S Se f Sl=|s|S| ¥ S=IsisEl g
> = =
(&) - ||} @ B Il @ 17 | 17 |
OEEEE = —KS g == = 3] 3 B 3
S \ — i |
| |
12015 gl B nlls il L L
I ) i
3t N\ 3 N\
L C L C B . :
S< = R =
3 2l<lsH 2 SIEEIEE S =
R — — \ — i |
A B C(3x 120 L D d G g S rpm kg nlls il B il | '
YQXJ64M-121 |M16x 1.5 |G3/8” Gl4 " 146 53 9 1895 0 24 12000 0.7 | L i{ 12115 —
YQXJ64AM-122 | M16x 1.5 [NPT3/8" G1/4" 146 53 9 18g5 0 24 12000 0.7 3 C 3 \ c B
YQXJ64M-121A M16x 1.5 G3/8" G1/4 " 159 53 9 18g5 1495 24 12000 0.7 L L
YQXJ64M-122A |M16x 1.5 |NPT3/8" G1/4 " 159 53 9 1895 1495 24 12000 0.7
YQXJ66M-121 M16x 1.5 G3/8" G1/4 " 152 53 9 1895 0 24 12000 0.7
YQXJ66M-122 M16x 1.5 NPT3/8" G1/4 " 152 53 9 1895 0 24 12000 0.7
YQXJ66M-121A M16x 1.5 G3/8" G1/4 " 165 53 9 18g5 1495 24 12000 0.7 3/8" 1/4..
YQXJ66M-122A M16x 1.5 NPT3/8" G1/4 " 165 53 9 18g5 1495 24 12000 0.7

-05- -06-



RFT RFT
YQXJ64M/66M YQXJ54M
[ ]
[ ]
A B C(3x 120°) L D d G g S rpm kg .
YQXJ64M-201  |M16x 1.5 |G3/8’ GL4" 146 55 9 1895 0 24 20000 0.8
YQXJ64M-202 | M16x 1.5 | NPT3/8" S 146 55 9 1895 0 24 20000 0.8 o NSK P4 PS5
YQXJ64M-203 M16x 1.5 Rc3/8" G1/4 " 146 55 9 1895 0 24 20000 0.8 )
YOXJ64M-204 | M16x 1.5 |GL/4’ G1/4 " 146 55 9 1895 0 24 20000 08 R
YQXJ64M-205 | M16x 1.5 |NPT1/4" G4 146 55 9 1895 0 24 20000 0.8
YQXJ64M-206 M16x 1.5 Rc1/4" G1/4 " 146 55 9 1895 0 24 20000 0.8 ®
YQXJ64M-201A |M16x 1.5 |G3/8" G1/4" 159 55 9 1895 14g5 24 20000 08 " "
YQXJB64M-202A | M16x 1.5 | NPT3/8" G1/4 " 159 55 9 18g5 | 14g5 24 20000 08
YQXJ64M-203A M16x 1.5 Rc3/8" G1/4 " 159 55 9 1895 1495 24 20000 0.8 MQL _ 14218 n
YQXJ64M-204A |M16x 1.5 |GL/4" G4 " 159 55 9 1895 | 1495 24 20000 0.8 e 100 T~
YQXJ64M-205A | M16x 1.5 | NPT1/4" Gl4" 159 55 9 18g5 | 14g5 24 20000 08 ISO 4406 17/15/12. 60p m 80 [~
YQXJ64M-206A |M16x 1.5 |Rcl/4’ Gl4" 159 55 9 18g5 14g5 24 20000 08 100 bar; 10 bar 60 I
YQXJ64M-151 M16x 1.5 G3/8" G1/4 " 146 55 9 1895 0 24 15000 0.8 20000/15000 r/min 40
YQXJ64M-152 M16x 1.5 | NPT3/8" G4 " 146 55 9 1895 0 24 15000 0.8 . . 20
YQXJ64M-153  [M16x 1.5 |Rc3/s’ G4 146 55 9 1895 0 24 15000 08 82 L/min 24.3 L/min 0
YOXJ64M-154 | M16x 1.5 |G1/4’ G1/4 " 146 55 9 1895 0 24 15000 0.8 70° C 0 5000 10000 15000 20000
YOXJ64M-155 | M16x 1.5 | NPTL4’ Gua” 146 55 9 1895 0 24 15000 0.8 — — r/min
YQXJ64M-156 M16x 1.5 |Rc1/4” Gl4" 146 55 9 1895 0 24 15000 0.8 YQXJ54M-20 15 /YQXJ54M—BZO
YQXJ64M-151A M16x 1.5 G3/8" G1/4 " 159 55 9 1895 1495 24 15000 0.8 20 5
YOXJ64M-152A [M16x 1.5 |NPT3/8" G4 159 55 9 1805 | 14g5 24 15000 08 A
YQXJ64M-153A |M16x 1.5 |Rca/s’ G4 159 55 9 1805 | 14g5 24 15000 08 g T2
YQXJ64M-154A | M16x 1.5 | G4’ G4 159 55 9 185 | 14g5 24 15000 0.8 ST -]
YQXJ64M-155A |M16x 1.5 |NPT1/4’ GL4" 159 55 9 1895 | 14g5 24 15000 08 9
YQXJ64M-156A | M16x 1.5 |Rcl/4’ Gl4" 159 55 9 1895 | 14g5 24 15000 08 L
YQXJ66M-201  |M16x 1.5 |G3/8" G1/4 " 152 55 9 1895 0 24 20000 08
YQXJ66M-202  |M16x 1.5 |NPT3/8" G4 152 55 9 1895 0 24 20000 08 S =
YQXJ66M-203 | M16x 1.5 |Rc3/8" G4 152 55 9 1895 0 24 20000 08 X\ _
YQXJ66M-204  [M16x 1.5 |G1/4" G4 152 55 9 1895 0 24 20000 08 ol<|3 2 ﬁ
YQXJ66M-205  |M16x 1.5 |NPTL/4" GlU4” 152 55 9 1895 0 24 20000 0.8 ==\
YQXJ66M-206  |M16x 1.5 |Rcl/a’ G4 152 55 9 1895 0 24 20000 08 mlls ir B
YQXJ66M-201A |M16x 1.5 |G3/8’ G1/4 " 165 55 9 1805 | 14g5 24 20000 0.8 ' \
YQXJ66M-202A | M16x 1.5 | NPT3/8" GL4" 165 55 9 1895 | 14g5 24 20000 08 d ] C
YQXJ66M-203A |M16x 1.5 |Rc3/8’ G4 165 55 9 1895 | 14g5 24 20000 0.8
YQXJ66M-204A | M16x 1.5 |G1/4’ G4 165 55 9 1805 | 14g5 24 20000 08 3/8" 1/4"
YQXJ66M-205A | M16x 1.5 | NPT1/4" G4 165 55 9 1895 | 14g5 24 20000 08
YQXJ66M-206A |M16x 1.5 |Rcl/a’ GL4" 165 55 9 1895 | 14g5 24 20000 08 A B c@x 1209 | | D d G s bar rom kg
YQXJ66M-151 | M16x 1.5 |G3/8° G4’ 152 55 9 1895 0 24 15000 08 YOXJ54M-201(A) |M16x 1.5 |G3s’ GUA" | 140(148) 53 9 1895 24 100 20000 0.7
YQXJB6M-152 | M16x 1.5 | NPT3/8" G4~ 152 55 9 18g5 0 24 15000 08 YQXJ54M-202(A) |M16x 1.5 |NPT3/8" G4 | 140(148) 53 9 18g5 24 100 20000 07
YQXJ66M-153 | M16x 1.5 |Rc3/8" G4~ 152 55 9 1895 0 24 15000 08 YQXJ54M-203(A) |M16x 1.5 |GL/4" Gl4" | 140(148) 53 9 18g5 24 100 20000 07
YQXJ66M-154 | M16x 15 |G1/4° G4 - 152 55 9 1895 0 24 15000 08 YOXJ54M-204(A) |M16x 1.5 |NPT1/4" GU4A" | 140(148) 53 9 1895 24 100 20000 0.7
YQXJ66M-155 | M16x 1.5 |NPT14 Gua” 152 55 9 1895 0 24 15000 08 YQXJ54M-151(A) |M16x 1.5 |G3/8’ GU4" | 140(148) 53 9 18g5 24 100 15000 07
YQXJ66M-156 | M16x 1.5 |Rel4” G4~ 152 55 9 1895 0 24 15000 08 YQXJ54M-152(A) |M16x 1.5 [NPT3/8" GU4" | 140(148) 53 9 18g5 24 100 15000 0.7
YQXJ6E6M-151A | M16x 1.5 |G3/8 G4’ 165 55 o 1895 | 1495 24 15000 0.8 YOXJ54M-153(A) [M16x 1.5 |G1/4” Gua’ | 140048) | 53 9 1895 24 100 15000 0.7
YQXJ66M-152A |M16x 1.5 |NPTS/E G4 165 55 o 1895 | 1495 24 15000 08 YOXJ54M-154(A) |M16x 1.5  |NPTV/4" GU4" | 140148) | 53 9 18g5 24 100 15000 0.7
YQXJ66M-153A |M16x 1.5 |Rc3is Cu4- 165 > o 1805 | 1495 24 15000 08 YQXJ54M-B201  |5/8"-18UNF | NPT3/8" 4-Gua' | 140 53 9 16,6595 24 100 20000 0.7
YQXJ66M-154A | M16x 1.5 |G1/4’ G4 165 55 9 1895 | 14g5 24 15000 0.8 YQXJ54M-B202  |5/8"-18UNF | Rc3/8" 4-GUa" | 140 53 9 16.65g5 24 100 20000 0.7
YQXJB6E6M-155A |M16x 1.5 | NPTL/4° G4’ 165 55 o 1895 1495 24 15000 0.8 YQXJ54M-B203  |5/8"-18UNF | NPT1/4" 4-GL4" | 140 53 9 16.6505 24 100 20000 07
YQXJ66M-156A |M16x 15 |Rel/4’ G4’ 165 55 o 185 | 1495 24 15000 08 YQXJ54M-B204  |5/8"-18UNF | Rcl/d" 4-GU4" | 140 53 9 16.6595 24 100 20000 0.7

-07- -08-



RFT

YQXJ56M YQXJ54M/56M-12
[ J [}
[} [ J
[} [ J
) NSK P4 P5 o NSK P5
[} [}
[} [}
[ ) ° °
140
8 120 ™~
§§
100 80
MQL ™ MQL
80 1 70
ISO 4406 17/15/12. 60p m 60 ISO 4406 17/15/12. 60y m _czs 50 —
40
100 bar; 10 bar 20 70 bar; 10 bar 40
20000/15000 r/min o 12000 r/min 30 ™~
82 L/min 24.3 L/min 0 5000 10000 15000 20000 82 L/min 20
70° C — _— r/min 70° C 10
0
0 5000 10000 12000 15000
YQXJ56M-20 15 /YQXJ56M-B20 . f/min
A 20 5
SIS 1l YQXJ54M-12 A YQXJ56M-12
39
L 20_5 20_5
° i SREEES | SREEES |
| — | S—
ol 39 39
= L L
[
1205 1 S 'f;i S 'f?‘
T I\
31 5 5 ~— _ ~—
L SRR B = 8 gl<|3 e
3/8" 1/4" \
L B ! -
12 5 - 12 5 | |
I l
C(3x 120% 3 N\\\ 5 N\\\
A B ( L D d G S bar rpm kg ] c ] c B
YQXJ56M-201(A) | M16x 1.5 | G3/8” G4 | 146(154) 53 9 1895 24 100 20000 07
YQXJ56M-202(A) | M16x 1.5 | NPT3/8" cua’ | 14654 | 53 9 18g5 24 100 20000 0.7 3/8"
YQXJ56M-203(A) | M16x 1.5 | G1/4" Gl4" | 146(154) 53 9 1895 24 100 20000 07
YQXJ56M-204(A) | M16x 1.5 | NPT1/4" GlU4" | 146(154) 53 9 1895 24 100 20000 07 A B C(3x 120) L D d G S bar rpm kg
YQXJ56M-151(A) | M16x 1.5 | G3/8” GU4" | 146(154) 53 9 1895 24 100 15000 07 YQXJ54M-121 M16x 1.5 | G3/8" G1/4” 140 48 9 1895 24 70 12000 0.65
YQXJ56M-152(A) | M16x 1.5 | NPT3/8" Gl4" | 146(154) 53 9 18g5 24 100 15000 0.7 YQXJ54M-122 M16x 1.5 | NPT3/8" Gl/4” 140 48 9 18g5 24 70 12000 0.65
YQXJ56M-153(A) | M16x 1.5 | GL/4” Gl/4" | 146(154) 53 9 1895 24 100 15000 0.7 YQXJ54M-121A | M16x 1.5 | G3/8" GL4” 148 48 9 1895 24 70 12000 0.65
YQXJ56M-154(A) | M16x 1.5 | NPTL/4" GU4" | 146(154) 53 9 1895 24 100 15000 0.7 YQXJ54M-122A | M16x 1.5 | NPT3/8" G4 " 148 48 9 1895 24 70 12000 0.65
YQXJ56M-B201  |5/8"-18UNF | NPT3/8" 4-G1/4" 146 53 9 16.6595 24 100 20000 0.7 YQXJ56M-121 M16x 1.5 | G3/8" Gu/4" 146 48 9 1895 24 70 12000 0.65
YQXJ56M-B202  |5/8"-18UNF | Rc3/8" 4-GUa" | 146 53 9 16.65g5 24 100 20000 0.7 YQXJ56M-122 | M16x 1.5 | NPT3/8' G4 " 146 48 9 1895 24 70 12000 065
YQXJ56M-B203  |5/8"-18UNF | NPT1/4" 4-G1/4" 146 53 9 16.65g5 24 100 20000 0.7 YQXJ56M-121A | M16x 1.5 | G3/8" Gl/4” 154 48 9 18g5 24 70 12000 0.65
YQXJ56M-B204  |5/8"-18UNF | Rcl/4" 4-G1/4" 146 53 9 16.65g5 24 100 20000 0.7 YQXJ56M-122A | M16x 1.5 NPT3/8" G1/4" 154 48 9 1895 24 70 12000 0.65

-09- -10-



RFT

RFT

YQXJ54M/56M-B15 B12 YQXJ44M/46M-20

[ J [}
® °
[} [}
°® YQXJ54M/56M-B15 NSK P5 ° NSK P4
°® YQXJ54M/56M-B12 NSK P5 °
[ J [}
° L4 °
o YQXJ54M/56M-B12 ) m—
140
MQL 5 N
Q - MQL 8 120 S
ISO 4406  17/15/12. 60y m 8.0 ISO 4406  17/15/12. 60y m @ =
80
100/ 70 bar; 10 bar 100 bar; 10 bar ~~
80 — , 60 ==
15000 / 12000 r/min 60 — 20000 r/min 40
; . . 20
82 L/min 40 ~] 82 L/min : 24.3 L/min o
20
70° C 0 70° C 0 5000 10000 15000 20000
0 5000 10000 12000 15000 - I r/min
— r/min
YQXJ54M-B15 B12 YQXJ56M-B15 B12
. . YQXJ44M-20 YQXJ46M-20
S S
IS — <
o o
gl <2 R 8 g« L8 s S
—/ 3 — \ — g | \ \
v B o J | — @
1n]]5 \ n|ls - 3 <| < NS 8| <|< s
T 1 —
0 c » c B B L ! !
[
L L 1 5 1 5 \ \
T T
3/8" 1/4" - " L " ;
L L
A B C(3x 120') L D d G S bar rpm kg
YQXJ54M-B151 M16x1.5 G3/8" G1/4" 130 49.5 9 1895 24 100 15000 0.62
YQXJ54M-B152 M16x1.5 Rc3/8" G1/4" 130 49.5 9 1895 24 100 15000 0.62 3/8" 1/4"
YQXJ54M-B153 M16x1.5 NPT3/8" G1/4" 130 49.5 9 18g5 24 100 15000 0.62
YQXJ56M-B151 | M16x1.5 G3/8" G1/4" 138 49.5 9 1895 24 100 15000 0.62 A B C(3x 120) L D d G S bar rpm kg
YQXJ56M-B152 M16x1.5 Rc3/8" G1/4" 138 49.5 9 1895 24 100 15000 0.62 YQXJ44M-201 M16x1.5 |G3/8" 9 122 a7 9 18g5 24 100 20000 0.6
YQXJ56M-B153 M16x1.5 NPT3/8" G1/4" 138 49.5 9 18g5 24 100 15000 0.62 YQXJ44M-202 M16x1.5 NPT3/8" 9 122 47 9 1895 24 100 20000 0.6
YQXJ54M-B121 M16x1.5 G3/8" G1/4" 130 49.5 9 1895 24 70 12000 0.62 YQXJ44M-203 M16x1.5 G1/4" 9 122 47 9 18g5 24 100 20000 0.6
YQXJ54M-B122 | M16x1.5 Rc3/g” G4 130 495 9 1895 24 70 12000 0.62 YQXJ44M-204 | M16x1.5 |NPT1/4" 9 122 47 9 18g5 24 100 20000 0.6
YQXJ54M-B123 M16x1.5 NPT3/8" G1/4" 130 495 9 18g5 24 70 12000 0.62 YQXJ46M-201 M16x1.5 |G3/8" 9 128 47 9 18g5 24 100 20000 0.6
YQXJ56M-B121 M16x1.5 G3/8" G1/4" 138 495 9 1895 24 70 12000 0.62 YQXJ46M-202 M16x1.5 INPT3/8" 9 128 47 9 18g5 24 100 20000 0.6
YQXJ56M-B122 | M16x1.5 Rc3/8" G1/4" 138 49.5 9 1895 24 70 12000 0.62 YQXJ46M-203 M16x1.5 |G1/4" 9 128 a7 9 1895 24 100 20000 0.6
YQXJ56M-B123 | M16x1.5 NPT3/8" G1/4" 138 49.5 9 1895 24 70 12000 0.62 YQXJ46M-204 M16x1.5 [NPTL1/4" 9 128 47 9 1895 24 100 20000 0.6

-11- -12-



ﬁ‘ ] § fe‘ ] ;
YQXJ44M/46M YQXJ46V
[ ] [ ]
[ ]
[ ] [ ]
°® YQXJ44M/46M-15 NSK P5 @
° YQXJ44M/46M-12 NSK P5 o YQXJ46V-15 NSK P5
° o YQXJ46V-12 NSK P5
° L ° °
o YQXJ44M/46M-12 L
o YQXJ46V-12
MQL MQL
« 120
ISO 4406 17/15/12. 60 m _g 100 ISO 4406 17/15/12. 60 m
100/70 bar; 10 bar 80 70 bar; 10 bar 6 bar
. e~ . .
15000/12000 r/min 60 — 15000/12000 r/min; 3500 r/min
82 L/min : 20 L/min 40 — 28 L/min
20
70° C 0 70° C 80
0 5000 10000 12000 15000 70
. I
— — 50 N
r/min o N
40
30 ™~
YQXJ44M-15 12 YQXJ46M-15 12 20
S S 10
\ 0
[} — o 0 5000 12000 15000
gl=3]_+| — § 8 SRR = S
=3\ ! | - r/min
il B e A
1nl| s il s \ \
I T
30 C 30 C B
L L YQXJ46V-15 12
3/8" 1/4" B1 B2
; /
. \ < T
A B C(3x 120) L D d G S bar rpm kg HH
. ol L@ I st =
YQXJ44M-151 M16x 1.5 |G3/8 M6 112 45 9 1895 24 100 15000 0.4 s = I _\\\*, S
YQXJ44M-152 M16x 1.5 |NPT3/8" M6 112 45 9 1895 24 100 15000 0.4
YQXJ44M-153 M16x 1.5 |G1/4" M6 112 45 9 1895 24 100 15000 0.4 1 5
YQXJ44M-154 M16x 1.5 |NPT1/4" M6 112 45 9 1895 24 100 15000 0.4 '30 C
YQXJ44M-121 M16x 1.5 |G3/8" M6 112 45 9 1895 24 70 12000 0.4
YQXJ44M-122 M16x 1.5 |NPT3/8" M6 112 45 9 1895 24 70 12000 0.4 L
YQXJ44M-123 M16x 1.5 |G1/4" M6 112 45 9 1895 24 70 12000 0.4
YQXJ44M-124 M16x 1.5 |NPT1/4" M6 112 45 9 1895 24 70 12000 0.4 1/4"
YQXJ46M-151 M16x 1.5 |G3/8" M6 104 45 9 1895 24 100 15000 0.4
YQXJ46M-152 M16x 1.5 NPT3/8" M6 104 45 9 18g5 24 100 15000 0.4 A B1/B2 C(3x 120) L D d G S bar rpm kg
YQXJ46M-153 M16x 1.5 |G1/4" M6 104 45 9 1895 24 100 15000 0.4 YQXJ46V-151 M16x 1.5 |G1/4" IG1/4" M6 110 45 9 18g5 24 g,‘fo( ; ; 15000 0.42
YQXJ46M-154 M16x 1.5 [NPT1/4" M6 104 45 9 1895 24 100 15000 0.4 YQXJ46V-152 M16x 1.5 |NPT1/4" /G1/4" M6 110 45 9 1895 24 gﬁ( ; ; 15000 0.42
YQXJ46M-121 M16x 1.5 G3/8" M6 104 45 9 1895 24 70 12000 0.4 YQXJ46V-121 M16x 1.5 |Gl/4" /G1/4" M6 110 45 9 1895 24 70 12000 0.42
YQXJ46M-122 M16x 1.5 NPT3/8" M6 104 45 9 1895 24 70 12000 0.4 YQXJ46V-122 M16x 1.5 [NPT1/4" /G1/4" M6 110 45 9 18g5 24 70 12000 0.42

-13- -14-



RFT

YQXJ34M/36M C YQXJ54MK/56MK-24 15
Y [ ]
° [ ]
° ° 13.5mm/A  19mm
° NSK P5 ©
° ° 0.1mm
° ° NSK P4 P5
° ° ° °
[ ]
MQL . 120 MQL
o]
ISO 4406  17/15/12.  60p m 100 ISO 4406  17/15/12.  50p m 140
80 ~ = 120
100 bar; 10 bar e 140 bar; 10 bar g ~
60 o < 100
15000 r/min 40 - 24000/15000 r/min 80 ~
8 L/min 20 82 L/min : 24.3 L/min 60
0 40
o o
70° C 0 5000 10000 15000 70° C 20
— r/min 0
0 5000 10000 15000 20000 25000
— — r/min
YQXJ34M-15 YQXJ36M-15
A YQXJ54MK-24 15 YQXJ56MK-24 15
SR
<.'>| <| = A 25 295 A 25 ., 295
= Sy =
S— //
11 3 17 i
22 3 = S
s , s , AN
\ < ~ \’_ < [ L
) <’ = an) T 1 o o o <| = Py = 2 45
= s Y . SISy = s A i Y ]
- . - ]I Il A @
& B & =
1 3 \ 1 3 \ \ g = I Qe gL — =
c c ° — o °
2 2 B 1R i Ly ] g
L L 372 B ¢ 372 B3 \¢ \g
L L
3/8" 1/4"
1/8"
A B cex 60)| L D d G S bar rpm kg A B [C(Bx120) L D d G Q bar rpm kg
YQXJ34M-151 | M10x1 Sl 6.4 86 35 4 1195 17 100 15000 | 035 YQXJ54MK-241(151) 12D10 | G3@" cua | 134 52 | 111F9 18 4896 140 oo | 12
YQXJ34M-152 | M10x1 NPT1/g" 64 86 35 4 1165 17 100 15000 | 0.35 YQXJ54MK-242(152) 12D10 | Gu4' cuar | 134 52 | 11.1F9 18 4896 uo | B | 12
YQXJ34M-151A | M10x1 Gl/s" 6.4 86 35 4 1165 17 100 15000 0.35 YQXJI54MK-241(151)A 9.25D10| G3/8" Gua” | 1285 | 52 | 10.1F9 20 4896 140 Fa600) 12
YQXJ34M-152A | M10x1 NPT1/8" 6.4 86 35 4 11g5 17 100 15000 0.35 YQXJI54MK-242(152)A 9.25D10| Gu4" Gl/4" 128.5 52 10.1F9 20 4896 140 (féggg) 1.2
YQXJ36M-151 M10x1 GU8" 6.4 84 35 4 11g5 17 100 15000 035 YQXJ56MK-241(151) 12D10 | Gas" G14" | 140 52 11.1F9 18 4846 140 i) 13
YQXJ36M-152 | M1OXL NPTL/8" 6.4 84 35 4 11g5 17 100 15000 0.35 YQXJ56MK-242(152) 12D10 | Gua GU4" | 140 52 | 111F9 18 48g6 140 Fao00) | 13
YOXJ36M-151A | M10x1 G1/8" 6.4 84 35 4 11g5 17 100 15000 035 YQXJI56MK-241(151)A 9.25D10| G3/8" GL4" | 1345 52 10.1F9 20 4896 140 (lzéggg) 13
YOXJ36M-152A | M10x1 NPT1/8" 6.4 84 35 4 11g5 17 100 15000 035 YQXJI56MK-242(152)A 9.25D10| G1/4" Gl4" | 1345 | 52 10.1F9 20 4846 140 (F2500) 13

-15- -16-



RFT

/'YQXJ54 53 MK/56 55 MK-36 15

YQXJI57MK/67TMK-24

RFT

[ ]
[ ]
° 19mm
[ ]
o 0.1mm
° NSK P4 P5
[ ] [ ]
FmU——————
o
MQL
ISO 4406 17/15/12. 50 m
140 bar; 10 bar 140 J\
_ 5 120
36000/15000 r/min 8 o ™ ~
i 80 ™
24.3 L/min o ~_ ~
7 o
0 C 40
20
0
0 5000 10000 15000 20000 25000 30000 35000
—_ —_ r/min
YQXJ54(53)MK-36(15) YQXJ56(55)MK-36(15)
32.5 20 32.5 20
A I @ A I $
| o | —é = NI=) o| o] = 111 \_:é :: o
3| s | F= E N = ESYERSY IR SY I1] == E =
o -]
-] \ -]
"_“__nlu B oy fid
. ]
N\ \ N\
19.5 72 g 19.5 2 . © B
L L
1/4"
A B C(3x 120) L D d G Q bar rpm kg
YQXJI54MK-361 7.4D10| G1/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 36000 1.1
YQXJ54MK-362 7.4D10| Rc1/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 36000 1.1
YQXJI56MK-361 7.4D10| G1/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 36000 1.1
YQXJI56MK-362 7.4D10| Rc1/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 36000 1.1
YQXJ53MK-151 7.4D10| G1/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 15000 1.1
YQXJ53MK-152 7.4D10| Rci1/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 15000 1.1
YQXJI55MK-151 7.4D10| G1/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 15000 1.1
YQXJ55MK-152 7.4D10| Rcl/4" G1/4" 112.5 48 8.1F9 15.4 4896 140 15000 11

-17-

[ ]
( ]
° 19mm
[ ]
o 0.1mm
o NSK P4
° [ ]
Y . [ ]
MQL
ISO 4406 17/15/12. 50u m
150 bar; 10 bar 160
24000 r/min 140 =
. ] . T 120
82 L/min ; 24.3 L/min 100
70° C 80
60
40
20
0 0 4000 8000 12000 16000 20000 24000
e —_ r/min
YQXJ57MK-24 YQXJ67MK-24
32.5 20 32.5 25
20
@ ST & T
i N\Y T - A = B E i T
gl 3 = - —@-s <83 — -S
o = — - L
" || ® i ' \B {4 8
i N i AN
72 ¢ 32 b ¢
19.5 12 19.5 118
L
1/4"
A B C(3x 120 L D d G Q (bar) rpm kg
YQXJ57MK-241 7.4D10| G1/4" G1/4" 1315 48 8.1F9 15.9 4496 150 24000 1.2
YQXJI57MK-242 7.4D10| Rc1/4" G1/4" 1315 48 8.1F9 15.9 4496 150 24000 1.2
YQXJI67MK-241 9.25D10| G3/8" G1/4" 137.5 48 10.1F9 16 4896 150 24000 1.2
YQXJ67MK-242 9.25D10| G1/4" G1/4" 137.5 48 10.1F9 16 4896 150 24000 1.2
-18-




RFT RFT

YQXJ46MK/48MK-24

YQXJ45MK-24

Y [ ]
° [ ]
° 19mm ° 19mm
° [ ]
. NSK P4 ¢ NSK P4
° [ ]
° ° o °
o,
MQL MQL
ISO 4406 17/15/12.  50p m = ISO 4406 17/15/12.  50u m 160
o 80 140
80 bar; 10 bar 60 150 bar; 10 bar g 120 ™
24000 r/min 20 24000 r/min 100
. 80
24.3 L/min 20 24.3 L/min 60
o 0 o
70" C 0 4000 8000 12000 16000 20000 24000 70° C 40
20
J— r/min 0
0 4000 8000 12000 16000 20000 24000
—_ —_ r/min
YQXJ45MK-24
YQXJ46MK-24 YQXJ48MK-24
32.5 20
g $ 32.5 20 3 32.5 20
A
(=1 (&) b=l . _:: : [=) ]
EE=i=: i 0 : A JTle
T aE | 1 s R s AN ELAN
I \ SIS S| s g| SIS — I E=E#T]- —H-<
h=% - b 4
C‘: ) ‘. | !ﬁ B <2 " || | i B
19.5 372 B ) AN % \
30 B C B
L
195 56.3 I3 19.5 37.2 §
L L
1/4" 1/4"

A B C(4x 90) L D d G Q bar rpm kg A B C(3x 120’ L D d G Q (bar) rom kg
YQXJ45MK-241 7.4D10] G1/4" Gig' | 1125 | 48 | 8IF9 | 154 | 4806 | 80 | 24000 | 1.1 YQXJ46MK-241 7AD10| Gu4  |PAuax30 | 1315 | 48 | 81RO | 159 | 44g6 | 150 | 24000 | 11
YQXJ45MK—242 7.4 D10| Rc1/4" G1/8" 112.5 48 8.1F9 15.4 4896 80 24000 1.1 YQXJ46MK-242 7.4 D10| Rcl/4" ¢4(12>< 30 131.5 48 8.1F9 15.9 4496 150 24000 1.1

YQXJ48MK-241 7.4 D10| G1/4" G1/4" 1315 48 8.1F9 15.9 4896 150 24000 1.2
YQXJ48MK-242 7.4 D10| Rcl/4" G1/4" 131.5 48 8.1F9 15.9 4896 150 24000 1.2

-19- -20-



RFT

YQXJ58MK-24 YQXJ54Q/56Q
( ] [ ]
( [ ]
° 12mm/A  19mm °
. o NSK P4 P5
o NSK P4 o
L °
[ ) @ [ ) ,
~
MQL
ISO 4406 17/15/12. 50u m iﬁg 30p m
140 bar; 10 bar 5 120 ™~ 10 bar
o]
24000 r/min 100 20000 r/min : 15000 r/min
80 . .
82 L/min ; 24.3 L/min 60 1060 L/min  1/4" ;2200 L/min  3/8"
70° C 40 120° C
20 12
0 G 10
0 4000 8000 12000 16000 20000 24000 Q [~
8 —
: 6
—_ —_ r/min
4
2
0
0 5000 10000 15000 20000
YQXJI58MK-24 - rfmin
30.5 25
19.5~
A
/ b /
S — == YQXJ54Q-20 YOXJ56Q-15
\ / ————— L
~__ // L
S S
26 25 - .
i \ \ =
- H A T
A HEd == 3 << w s L=<l © =
3 —
=AM 1 B
gl S| = ===l - S » @D
Npas N ik 7 115 / \
0l B 26 ¢ ' ¢
| Hoi i 30 B
N N\ L L
15 32 c B
L
G3/8 Gl/4 s 3/8"

A B Cax of L D d G Q (bar) | rpm kg A B |c@x 120) L D d G S bar rpm kg
YQXJ58MK-241 9.25 D10| G3/8" G1/4" 133 48 10.1F9 16 4896 140 24000 1.3 YOXJ54Q-201 M16% 1.5 o1 04 o o 5 1605 " 1 20000 06
YQXJI58MK-242 9.25 D10| G1/4 G1/4 133 48 10.1F9 16 4896 140 24000 1.3 YOXJ54Q-202 M16x 1.5 NPTL" 04 97 o 5 1895 ” 0 20000 06
YQXJI58MK-241A 9.25 D10 G3/8" G1/4" 137.5 48 10.1F9 16 4896 140 24000 1.3

YQXJ56Q-151 M16x 1.5 G3/8" 8 106 44 8 18g5 24 10 15000 0.45
YQXJI58MK-242A 9.25 D10| G1/4" G1/4" 137.5 48 10.1F9 16 4896 140 24000 1.3
YQXJ56Q-152 M16x 1.5 NPT3/8" $8 106 44 8 18g5 24 10 15000 0.45

-21- _22_



RFT

YQXJ34V/36V YQXJ54V/56V
[ ] [ ]
[ ] [ ]
[ ] [ ]
° NSK P5 (] NSK P5
[ ] [ ]
[ ] [ ]
80 80
ISO 4406 17/15/12. 60 m _‘g Zg \\ ISO 4406 17/15/12. 60 m _g Zg \\
70bar :10bar -0.95bar 50 T 70bar :10bar -0.95bar 50 T
3500 r/min 40 3500 r/min 40
6.7 L/min 30 6.9 L/min 30
. 20 _ 20
283 L/min 10 1132 L/min 10
121° C 0 ° 0
0 500 1000 1500 2000 25003000 3500 121° C 0 500 1000 1500 2000 25003000 3500
- r/min — r/min
YQXJ34V-035 YQXJ36V-035 YQXJ54V-035 YQXJ56V-035
S . s s s
T  — |T| UL I UL
© R @ L3
= _'Ij o e = =
< _‘:J—\ = < = <| 3 ——0—-ni S <| I H— : —_—— 2
o 5 @ 1] o 1 \s .
= /IIJ_I _1_5 )JJ ‘ 1.3 1 1.5 [T, 'I !
11 11 \\ 16 \\
c c B i6 ¢ / )
22 22 28 28
L L L L
A B C(6x 60) L D d S bar rpm kg A B C(6x 60) L D d S bar rpm kg
YQXJ34V-0351 | M10x1 NPT1/8" b4 80 34 3.2 17 121 7100 3500 035 YQXJ54V-0351 | M16x1.5 NPT1/4" b4 96 42 6 21 121 7100 3500 05
YQXJ34V-0352 | M10x1 NPT1/8" b4 80 34 3.2 17 121 7100 3500 0.35 YQXJ54V-0352 | M16x1.5 NPT1/4" b4 96 42 6 21 121 7100 3500 05
YQXJ34V-0353 | 3/8-24UNF NPT1/8" b4 80 34 3.2 17 121 7100 3500 035 YQXJ54V-0353 | 5/8-18UNF NPT1/4" b4 96 42 6 21 121 71"0 3500 05
YQXJ34V-0354 | 3/8-24UNF NPT1/8" b4 80 34 3.2 17 121 7100 3500 035 YQXJ54V-0354 | 5/8-18UNF NPT1/4" b4 96 42 6 21 121 71"0 3500 05
YQXJ34V-0355 | G1/8 G1/8" b4 80 34 3.2 17 121 7100 3500 035 YQXJ54V-0355 | G3/8 G1/4" b4 96 42 6 21 121 7100 3500 05
YQXJ36V-0351 | M10x1 NPT1/8" b4 80 34 3.2 17 121 7100 3500 035 YOQXJ56V-0351 | M16x1.5 NPT1/4" b4 100 42 6 21 121 7100 3500 05
YQXJ36V-0352 | M10x1 NPT1/8" b4 80 34 3.2 17 121 7100 3500 035 YQXJ56V-0352 | M16x1.5 NPT1/4" b4 100 42 6 21 121 7100 3500 05
YQXJ36V-0353 | 3/8-24UNF  |NPTL/8" b4 80 34 3.2 17 121 7100 3500 035 YQXJ56V-0353 | 5/8-18UNF  |NPTL/4" b4 100 42 6 21 121 71"0 3500 05
YOXJ36V-0354 | 3/8-24UNF  |NPTL/8" b4 80 34 3.2 17 121 7100 3500 035 YOXJ56V-0354 | 5/8-18UNF  |NPTL/4" b4 100 42 6 21 121 7100 3500 05
YQXJ36V-0355 | G1/8 G1/8" b4 80 34 3.2 17 121 7100 3500 035 YOQXJ56V-0355 | G3/8 G1/4" b4 100 42 6 21 121 7100 3500 05

-23- -24-



RFT

YQXJ64V/66V YQXJ44MF
[ J [ ]
[ ]
[} [ ]
[ J [ ]
o NSK P5 °
[} [ ]
° ¢ °
L ——— V .
~ 88 140
5 7 — 120 o
MQL g . - MQL g N
ISO 4406 17/15/12. 60y m 40 \\ ISO 4406 17/15/12. 60u m 80
N
70bar ;6bar 10 bar 23 N 140bar; 10 bar 60
'
3500 r/min 10 30000 r/min; A 10000 r/min ‘z‘g
53 L/min 0 82 L/min : 24.3L/min 0
0 500 1000 1500 2000 2500 3000 3500 0 5000 10000 15000 20000 25000 30000
121° C 70° C
—_ r/min —_ —_ r/min
YQXJ44MF-20
YQXJ64V-035 YQXJ66V-035 A L B /IC
37 13
20 16.5~17 1.5
f211]
A1 A1
. > gl ¢ 3 gl g < I FH -
o —{F @
24 5
S — 5 S <|S | | S 3 135 10 14 15 3%6%';3;16
=== S -
B \ 3-MSETCHH)
5 R = b
| | | =
19 | III" 19 | "I" / : \ : gl ¢ <= = T ! NS _
B 1 L=
33.6 c 33.6 c , = B
C —
L L 11 [5] 30.6~31.6
R |
o o 3/8" 1/4"
A B C(3x 120 L D d S C (bar) rpm kg
YQXJ64V-0351 |G3/4" G3/4" M6 135 | 73 17 32 121 6/1700 / 3500 1.3 A B C(6x 60° L D d G Q S rpm kg
YQXJ44MF-201 | M16x 1. G3/8" 92 51 9 1895 357 24 30000 03
YQXJ64V-0352 (G3/4"  [NPT3/4" M6 |135| 73 | 17 | 32 121 | 3500 | 1.3 X 0 15 pa ’
- YQXJ44MF-202 | M16x 1.5 |NPT3/8" 94 92 51 9 1895 357 24 30000 03
YQXJ64V-0351A |G3/4" Gar4" M6 | 135| 73 | 17 32 R / 3500 13 YQXJ44MF-203 | M16x 15 |GLA4" 94 92 51 9 1895 357 24 30000 03
YQXJ64V-0352A |G3/4"  |NPT3/4" M6 |135| 73 | 17 | 32 121 |0 3500 1.3 YQXJ44MF-201A 0 3/ P4 82 51 ! ald 3517 0 10000 03
0 YQXJ44MF-202A 0 NPT3/8" g4 82 51 7 127 357 0 10000 03
YQXJ66V-0351 |G3/4 G3/4 M6 134 | 73 17 32 121 6/10 / 3500 1.3 YOXJ44MF-203A 0 e 92 o= o . o0 e o 10000 03
YQXJ66V-0352 |G3/4" NPT3/4" M6 134 | 73 17 32 121 6/1700 / 3500 1.3 YQXJ44MF-201B |5/8"-18UNF | G3/8" g4 95 51 9 16.6495 35f7 24 30000 0.3
YQXJ44MF-202B |5/8"-18UNF | NPT3/8" 95 51 9 16.64g5 357 24 30000 03
YQXJ66V-0351A |G3/4" G3/4" M6 134 | 73 17 32 121 6/1700 / 3500 1.3 Q P4 9
= YQXJ44MF-201C |5/8"-18UNF | G3/8" p4 95 51 9 16.64g5 3567 24 30000 03
YQXJ66V-0352A |G3/4" NPT3/4" M6 | 134 73 17 32 121 6/10 / 3500 13 YQXJ44MF-202C |5/8"-18UNF | NPT3/8" 94 95 51 9 16.64g5 357 24 30000 03

-25- -26-



RFET" RFET
YQXJ46MF YQXJ44MF/46MF-30
[ ] [ ]
[ ] [ ]
[ ] [ ]
[ ] [ ]
[ ] [ ]
[ ] [ ]
o [ ]
D .
140
N
v £ =
ISO 4406  17/15/12. 60y m o0 ISO 4406  17/15/12. 60y m @475
- o)
140 bar; 10 bar 60 140 bar; 10 bar 140 AN
) . 105
30000 r/min; A 10000 r/min ‘z‘g 30000 r/min o . ~
82 L/min ; 24.3 L/min 0 82 L/min ; 24.3 L/min 35
R 0 5000 10000 15000 20000 25000 30000 . 0
70° C 70° C 0 10000 20000 30000 40000 50000
- — r/min S J— r/min
A L YQXJ46MF-20
20 16.5~17 YQXJ44MF-30 YQXJ46MF-30
SEER
ﬁ 33.1 215 331 21,5
(«3 << =]
4-NSRE s = s = =
24 5 \ \ LU
34 135 10 95 BNl e _ 1T Hle
N SEENEE | s glel<F i 2
S = / > ]
\ e [ — 7B B [ — 79
Jh N i | C/ | C/
. / . 12]7 12]7
SR S g - - 19 | 354~36.3 19 | 354~36.3 5
\ / KRR SREK 4-MSRHCH)
7 : L L
1115 — "
j —
30.6~31.6 -
HER |
3/8" 1/4" 3/8" 14"
A B C(ex 60° L Dix D2| d G Q S rpm kg A B C(6x 60° L D d G Q s rpm kg
YOXJ46MF-201 |M16x 1.5 |G3/8" 94 92 44x 68 9 18g5 357 24 30000 0.4 YQXJ44MF-301 M14x1 G38’ 04 76.6 64 8 14595 357 18 30000 03
YQXJ46MF-202 M16x 1.5 NPT3/8" 04 92 44% 68 9 18g5 35f7 24 30000 0.4 YQXJ44MF-302 M14x1 NPT3/8" 04 76.6 64 8 14.5g5 357 18 30000 0.3
YOXJ46MF-203 |M16x 1.5 |G1/4" 04 92 44x 68 9 18g5 3517 24 30000 0.4 YQXJ44MF-303 M14x1 G4’ 04 76.6 64 8 14595 357 18 30000 03
YQXJ46MF-201A 0 G3/8” 94 82 44x 68 7 12f7 357 0 10000 0.4 YQXJ46MF-301 M14x1 G3/8" 94 86.1 64 8 14.595 35f7 18 30000 0.35
YQXJ46MF-202A 0 NPT3/8" 04 82 44x 68 7 12f7 35f7 0 10000 0.4 YQXJ46MF-302 M14x1 NPT3/8" 94 86.1 64 8 14.5g5 357 18 30000 0.35
YQXJ46MF-203A 0 G1/4" 4 82 44% 68 7 12f7 357 0 10000 0.4 YQXJ46MF-303 M14x1 G1/4" 94 86.1 64 8 14.5g5 35f7 18 30000 0.35

-27- -28-



RFT RFT
YQXJ54MF/56MF ~ YQXJ54VF/56VF
) ( ]
[
) (
[ ] ( ]
[ ] ( ]
) ( ]
( ]
[ ] [}
140
= 120 S
©
MQL S oo ™ MQL
ISO 4406 17/15/12. 60y m 28 ~ ISO 4406 17/15/12. 60y m L0
140 bar; 10 bar 40 140 bar; 10 bar - 15 ~~
] ~
30000 r/min 20 20000 r/min < 100
. _ . 0 _ 80
82 L/min ; 24.3 L/min 0 5000 10000 15000 20000 25000 30000 28 L/min 60
70° C — — r/min 70° C 40
20
0
YQXJ54MF-20 YQXJ56MF-20 0 5000 10000 15000 20000
28 19,10 28 19 20 I-M5EF D
5 5 S 5 — r/min
\ = \ | €3
g(g<|z o o g slg<lE
— [
B
109 ¢ ANE YQXJ54VF-20 YQXJ56VF-20
30.6~31.6 30.6~31.6 \\
R | REER | B
3/8" 1/4" L I-M5 &I CHAD I-MEET D
/ 13 / (56
28 19 22 PALSCEED 40 19 30 o
A B C(6x 60° L D d G Q S rpm kg 5 / 4 7
YQXJI54MF-201 M16x 1.5 G3/8" 05 85 51 9 1895 35f7 24 30000 0.3 S\ — VA"O S g il
YQXJI54MF-202 M16x 1.5 NPT3/8" 05 85 51 9 1895 35f7 24 30000 0.3 i
; . oL T
YQXJ54MF-203 | M16x 1.5 |G1/4 95 85 51 9 1895 35f7 2 30000 03 ololl=d ~ Lol o , olLls o o
ASURSY = I A4 NN = = = \v
YQXJ56MF-201 | M16x 1.5 |G3/8" #5 85 51 9 18g5 3517 24 30000 0.3 A N e }:’l_ 1 |
YQXJ56MF-202 | M16x 1.5 |NPT3/8" 35 85 51 9 18g5 35f7 24 30000 0.3 B1 ik‘{&l] Ea Ej
YQXJ56MF-203 | M16x 1.5 |GL/4" $5 85 51 9 1895 357 24 30000 03 s c 115 c '
30.6~31.6 1 ' 43n44 \
B2 ###0
- Z5ER ZEER B2 ###0 B1HA&]
YQXJ44MF/46MF/54MF/56 MF/54VF
AITA. ¥ / *a L
A S \AAY
nron - u L 3
®
<mn /Tonle] Ooa ] N SF—{Zwale]
¢ 3/8" 1/8"
SEERE - S gLY/ |
gl 2 g / - gl § j— | A Bl B2 Cex60°| L D d G Q S rpm kg
r V YQXJ54VF-201| M16x 1.5 G3/8" G1/8" #5 97 51 9 18g5 35f7 24 20000 0.3
_— | YQXJ54VF-202 | M16x 1.5 NPT3/8" NPT1/8" #5 97 51 9 18g5 35f7 24 20000 0.3
5 P © N
I ™ Qs 5 YQXJ56VF-201| M16x 1.5 | Gass’ Gl/8’ 95 108 | 54 | o 1895 3517 24 20000 | 035
T 2 11l YQXJ56VF-202 | M16x 1.5 NPT3/8" NPT1/8" #5 108 54 9 18g5 35f7 24 20000 0.35

-29- -30-



RFT

YQXJI54AWF ) YQXJISS5WF
( ] [ ]
( [ ]
° 0.1mm ° 0.1mm
( ] [ ]
[ ] [ ]
( ] [ ]
[ ] [ ]
O — e
140 140 \
T T 120 .
MQL g 120 NS MQL 8 S
< 100 [~ 100 \
1ISO 4406 17/15/12. 60y m 80 ~ ISO 4406 17/15/12. 60u m 80 N
T T
140 bar; 10 bar 60 - 140 bar; 10 bar 60
. 40 . 40
40000 r/min 0 40000 r/min 0
82 L/min ; 24.3 L/min 0 82 L/min ; 24.3 L/min 0
70° C 0 5000 10000 15000 20000 25000 30000 35000 40000 70° C 0 5000 10000 15000 20000 25000 30000 35000 40000
— — r/min — — r/min
L L
38.639.6 YQXJ54WF-40 B40 3860306 YQXJ55WF-40 B40
AR s A N
SE[I_ @ L:ﬁ— o
gl 8 =] 2 2l 8l < g
16 =2E 6 — e
37 3-M5SEUCHA) 37 3-M58E CHH)
40 19 |10 40 19 5
5
S i—- S
— T
\ \ o
Snamk H—" ©
= i
[od P B 7~ rrl |
1[5 ¢/ 1115 c L
43n 44 43~44
RN R | B
3/8" 1/4" 3/8" 1/4"
A B Cexeo’ | L D d G Q s rpm kg A B Cexes” | L D d ¢ Q S rpm kg
YOXJ54WF-401 M16x1.5 G3/8” 45 08 54 9 1895 3567 o4 40000 03 YQXJ55WF-401 M16x1.5 G3/8" 05 97 54 9 1895 35f7 24 40000 0.35
YOXJ54WF—402 MI16xL5 - 45 o8 " 5 1505 p ” 20000 03 YQXJI55WF-402 M16x1.5 Rc3/8" $5 97 54 9 1895 3567 24 40000 0.35
YOXJ54WF-403 M16x1.5 NPT3/8" 85 08 54 9 18g5 357 24 20000 03 YQXJI55WF-403 M16x1.5 NPT3/8" 05 97 54 9 18g5 35f7 24 40000 0.35
YQXJ54WF—-404 M16x15 Re1/4" 65 98 54 9 1895 25t7 24 40000 03 YQXJI55WF-404 M16x1.5 Rcl1/4" ®5 97 54 9 1895 357 24 40000 0.35
YQXJI55WF-401A M12x1.25 G3/8" 05 94 54 6 1495 35f7 18 40000 0.35
YQXJ54WF-401A M12x1.25 G3/8" $5 95 54 6 1495 35f7 18 40000 0.3
YQXJI55WF-402A M12x1.25 Rc3/8" 05 94 54 6 1495 35f7 18 40000 0.35
YQXJI54WF-402A M12x1.25 Rc3/8" $5 95 54 6 1495 357 18 40000 0.3
YQXJI55WF-403A M12x1.25 NPT3/8" 05 94 54 6 1495 35f7 18 40000 0.35
YQXJI54WF-403A M12x1.25 NPT3/8" $5 95 54 6 1495 357 18 40000 0.3
YQXJI55WF-404A M12x1.25 Rc1/4" $5 94 54 6 1495 35f7 18 40000 0.35
YQXJI54WF-404A M12x1.25 Rcl/4" 5 95 54 6 1495 35f7 18 40000 0.3
YOXJ54WF-B401 M16x1.5 Ga/s" 05 08 54 9 18¢5 34.85+0.05 24 40000 03 YQXJI55WF-B401 M16x1.5 G3/8" @5 97 54 9 1895 34.8510.05 24 40000 0.35
YQXJI54WF-B402 M16x1.5 Rc3/8" @5 98 54 9 1895 34.8510.05 24 40000 03 YQXJI55WF-B402 M16x1.5 Rc3/8" @5 97 54 9 18g5 34.8510.05 24 40000 0.35

-31- -32-



RFT

YQXJ34MF/35MF YQXJ36MF/38MF
[ ] o
[ ] [ ]
[ ] [ ]
® YQXJI34MF 5mm/YQXJ35MF 8mm ® YQXJ36MF 8mm/YQXJ38MF 9mm
[ ] [ ]
[ ] [ ]
[ ] e [ ] ©
~ |\ ~
MQL _ 140 < MQL _ 140 <
£ 120 = £ 120 -
1SO 4406 17/15/12. 60y m \\ ISO 4406 17/15/12. 60p m \\
100 ~ 100 ~~—
140 bar; 10 bar 80 140 bar; 10 bar 80
40000 r/min 28 40000 r/min 28
33 L/min 20 24.3 L/min 20
70° C 0 70° C 0
0O 10000 20000 30000 40000 0 10000 20000 30000 40000
— r/min — r/min
YQXJ34MF/35MF-40 YQXJ36MF/38MF-40
AR
IHRRAFNTRATERCRAS AR ]
g < s\
THRRAFHXBALERTRAZ ﬁ_ []
LR Jess[] T ol <[z ]}
P _
25 | Ll 4-M4RT ) - ]
@ 20 —
s SHRAH nmn i o )
/ FEEE | YEEE ~MARGTCHH)
S (E ! s B “ -l
St 4 b v,y @msi] | 13 E
s = 3 Q<= SESES 15 -
5 V| 31 S g/ ——1- B == g S —
= - 30 L= N JTB
E — > \ (] |
w[® = ! c — Jol
SE o] gl 15 6] | F 5 S 8 g« g HBlrels s
s i T > Y =+ o/ % -
: wE 5 g s
3| Olels 23‘5& 13 |6] | F
A B |Cuxod | L I | b E F G | d S rpm == + TR
L
YQXJ34MF-401 |M12x1.25 | 20f7 | @3 |64-60| 27-23 (402 | 17 16 13¢5 | 6 17 | 40000
YQXJ34MF-402 |M12x1.25 | 20f7 | @3 |64-60| 27-23 [402 | 17 16 13¢5 | 5 17 | 40000
YQXJ34MF-401A | M16x1.5 20f7 | @3 |64-60| 27-23 402 | 17 16 1895 | 6 19 | 40000
YQXJ34MF-402A | M16x1.5 20f7 | @3 |64-60| 27-23 402 | 17 16 18¢5 | 5 19 | 40000 A B L | c | b E - G d S rpm
YQXJ35MF-401 [M12x1.25 | 20f7 | @3 |76-59| 37-30 | 40.2| 225 18 13g5 17 | 40000 YOQXJ36MF-401 |M12x1.25 | 20f7 |62-56| 31-25 | 11.4 |385| 27 12 13¢5 | 5 17 | 40000
YQXJ35MF-402 [M12x1.25 | 20f7 | @3 |76-59| 37-30 | 40.2| 225 18 13g5 17 | 40000 YQXJ36MF-401A |M16x1.5 20f7 |62-56| 31-25 | 11.4 |385| 27 12 18¢5 | s 19 | 40000
YQXJ35MF-401A | M16x1.5 20f7 | @3 |[76-59| 37-30 [40.2| 225 18 18g5 19 | 40000 YOXJ38MF-401 |M12x1.25 | 20f7 |71-64| 40-33 | 11.4 |385| 36 12 13¢5 | s 17 | 40000
QXJ35MF-402A | M16x1.5 20f7 | @3 |76-59| 3730 |402| 225 18 18g5 19 | 40000 YQXJ38MF-401A |M16x1.5 20f7 |71-64| 40-33 | 11.4 |385| 36 12 18g5 | s 19 | 40000
~33- ~34-




®

RFET RFET

YQXJ YQXJ

L/min bar rpm Kg L/min bar rpm Kg
1 | YQxJeam-20 M16x 1.5 G NPT Rc3/8 1/4 82 [24.3 100 20000 0.8 46 | YQXJ36V-035 M10X1/3/8-24UNF G1/8 NPT1/8 6.7 70 3500 0.35
2 | YQXJ64M-15 M16x 1.5 G NPT Rc3/8 1/4 82 /24.3 100 15000 0.8 47 | YQXJ54V-035 M16x1.5/5/8-18UNF Gl/4 NPT1/4 6.9 70 3500 0.5
3 | YyQxJeam-12 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 70 12000 0.7 48 | YQXJ36V-035 M16x1.5/5/8-18UNF G1/4 NPT1/4 6.9 70 3500 0.5
4 | YQXJ66M-20 M16x 1.5 G NPT Rc3/8 1/4 82 [24.3 100 20000 0.8 49 | YQXJ36V-035 G3/4 G NPT3/4 112 53 70 3500 1.3
5 | YQXJ66M-15 M16x 1.5 G NPT Rc3/8 1/4 82 [24.3 100 15000 0.8 50 | YQXJ66V-035 G3/4 G NPT3/4 1/2 53 70 3500 13
6 | YQXxJeemM-12 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 70 12000 0.7 51| YQXJ44MF-20 M16x 15 /¢ 12f7 |G NPT Rc3/8 Gl/4 82 /243 140  [30000/10000 0.3
7 | YQXJ54M-20 M16x 1.5 G NPT Rc3/8 1/4 82 /24.3 100 20000 0.7 52 | YQXJ46MF-20 M16x 1.5 /g 12f7 |G NPT Rc3/8 Gl/4 82 /243 140  |30000/10000| 0.4
8 | YQXJ54M-B20 5/8"-18UNF NPT Rc3/8 1/4 82 [24.3 100 20000 0.7 53| YQXJ44MF-30 M14x 1 G3/8 NPT3/8 Gl/4 82 /24.3 140 30000 0.3
9 | YyQXxJs4am-15 M16x 1.5 G NPT Rc3/8 1/4 82 [24.3 100 15000 0.7 54 | YQXJ46MF-30 M14x 1 G3/8 NPT3/8 Gl/4 82 /24.3 140 30000 0.35
10 | YQXJ54M-B15 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 100 15000 0.62 55| YQXJ54MF-20 M16x 1.5 G NPT Rc3/8 Gl/4 82 /24.3 140 30000 0.3
11 | YQXJ54M-12 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 70 12000 0.65 56 | YQXJ56MF-20 M16x 1.5 G NPT Rc3/8 Gl/4 82 /24.3 140 30000 0.3
12 | YQXJ54M-B12 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 70 12000 0.62 57 | YQXJ54VF-20 M16x 1.5 G3/8 NPT3/8 28 140 20000 0.3
13 | YQXJ56M-20 M16x 1.5 G NPT Rc3/8 1/4 82 /243 100 20000 0.7 58| YQXJ56VF-20 M16x 1.5 G3/8 NPT3/8 28 140 20000 0.35
14 | YQXJ56M-B20 5/8"-18UNF G NPT Rc3/8 1/4 82 /24.3 100 20000 0.7 59 [YQXJ54WF-40 B40 M16x 15 /M12x 125 |G NPT Rc3/8 Rcl/4 82 /24.3 140 40000 0.3
15 | YQXJ56M-15 M16x 1.5 G NPT Rc3/8 1/4 82 /24.3 100 15000 0.7 60 [YQXJI55WF-40 B40 M16x 1.5 /M12x 1.25 G NPT Rc3/8;Rcl/4 82 /24.3 140 40000 0.35
16 | YQXJ56M-B15 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 100 15000 0.62 61| YQXJ34MF-40 M12x1.25 /M16xL5 620f7 x4 10 33 140 40000 0.25
17 | YQXxJ56M-12 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 70 12000 0.65 62| YQXJ35MF-40 M12x1.25 /M16xL5 6207 x¢10 33 140 40000 0.25
18 | YQXJ56M-B12 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 70 12000 0.62 63| YQXJ36MF-40 M12x125 /M16xL5 62017 x48 24.3 140 40000 0.25
19 | YQxJ44m-20 M16x 1.5 G NPT3/8 1/4 82 [24.3 100 20000 0.6 64 | YQXJ38MF-40 M12x1.25 /M16xL5 $20f7  x48 24.3 140 40000 0.25
20 | YQXJ44M-15 M16x 1.5 G NPT Rc3/8 1/4 82 /20 100 15000 0.4
21 | YQXJ44M-12 M16x 1.5 G NPT Rc3/8 1/4 82 70 12000 0.4
22 | YQXJ46M-20 M16x 1.5 G NPT3/8 1/4 82 /24.3 100 20000 0.6
23 | YQXJ46M-15 M16x 1.5 G NPT Rc3/8 1/4 82 /20 100 15000 0.4
24 | YQXJ46M-12 M16x 1.5 G3/8 NPT3/8 Rc3/8 82 70 12000 0.4
25 | YQXJ46V-15 M16x 1.5 G1/4 NPTL/4 Rcll/4 28 70 15000 0.42
26 | YQXJ46V-12 M16x 1.5 Gl/4 NPT1/4 Rcl/4 28 70 12000 0.42
27 | YQXJ34M-15 M10x 1 G1/8 NPT1/8 8 100 15000 0.35
28 | YQXJ36M-15 M10x 1 G1/8 NPT1/8 8 100 15000 0.35
29 | YQXJ54MK-24 S12 (89.25 G3/8 Gl/4 82 /24.3 140 24000 1.2
30 | YOXJ54MK-15 512 (S9.25 G3/8 Gl/4 82 /24.3 100 15000 1.2
31 | YOXJ56MK-24 512 (S9.25 G3/8 Gl/4 82 /24.3 140 24000 1.3
32 | YQXJ56MK-15 512 (89.25 G3/8 Gl/4 82 [24.3 100 15000 13
33 | YOXJ54MK-36 S7.4 G3/8 Gl/4 24.3 140 36000 1.1
34 | YQXJ53MK-15 S7.4 G3/8 Gl/4 24.3 100 15000 1.1
35 | YQXJI56MF-36 S7.4 Gl/4 Rcl/4 24.3 140 36000 1.1
36 | YQXJI55MF-15 S7.4 G1/4 Rcl/4 24.3 100 15000 11
37 | YQXJ45MF-24 S7.4 Gl/4 Rcl/4 24.3 80 24000 1.1
38 | YOXJ46MK-24 S7.4 Gl/4 Rcl/4 24.3 150 24000 11
39 | YOXJ48MK-24 S7.4 G1/4 Rcl/4 24.3 150 24000 1.2
40 |YQXJI58MK-24 $9.25 G3/8 Gl/4 82 [24.3 140 24000 1.3
41 | YQXJI57TMK-24 S7.4 G1/4 Rcl/4 82 /24.3 140 24000 1.2
42 | YOXJIBTMK-24 $9.25 G3/8 Gl/4 82 /24.3 150 24000 1.2
43 | YQXJ54Q-20 M16x 1.5 Gl/4 NPTL/4 2200 10 20000 0.6
44 | YQXJ56Q-15 M16x 1.5 G3/8 NPT3/8 ( )| 2200 10 15000 0.45
45 | YQXJ34V-035 M10X1/3/8-24UNF| ~ G1/8 NPT1/8 6.7 70 3500 0.35

-35- -36-



